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SM: HTBAL BARAY
Ha: X APAC R A (/B A R)
CHe: BAAS2H 2L (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
-SEEAH2AA A& AR
300,000& x7H x12& 25,200
-H24I| AR (BEAXA)
35,000& *7J A+ 128 2,940
S329H| 129,855 129,855 0
O1.3322LHA 106,680
SPNE= DN R = 500, 0003 =6 CH 3,000
ML AMER2 70,000 *8IH A~ x12& 6,720
&= 660,000 *8H A~ x12& 63,360
N33 1,100,000& x12& 13,200
~SAIJEA 1,700,000 x12& 20,400
O4. Xt H BHH| 23,175
-SE+E2(23X) 3,294,000 *1CH 3,294
-ASSEXH (L -) 2,635,000& = 1CH 2,635
-SlE2(g9Asat) 3,338,000 *1CH 3,338
- AYHSEIN(LESEHIE) 4,636,000 «30H 13,908
o4 bl 7,920 7,920 0
= LH O Hl 7,920 7,920 0
OBHHEE RF=TAHYI
60,0003 *9Y 3 x4 3] 6,480
O34 EFASOWU 60,000 x5 «2! 600
OBAHAXA DNEAMNH| 60,000 *7H x23] 840
A 2 =X 4,860 4,860 0
ABFAAHRF Y| 4,860 4,860 0
OBAHAZAY LRF=XH| 4,860,000 4,860
T 2 | 1,000 0 1,000
2 | 1,000 0 1,000
OxXZ+= HsYH S 2280 7Y
1,000, 000& 1,000
g A= 5,544 5,544 0
A ER2IALAZ 5,544 5,544 0
OMI=LRLA SAHl 7,000 x3H*x222 x12& 5,544
XH&HF S HI 35,000 17,150 17,850
NAMLEEFSHI 35,000 17,150 17,850
OYLterd) 2,500,000& =4 CH 10,000
OS2 E" (¢Axt) 25,000,000 = 10H 25,000
a8 L 22 193,379 248,819 A55,440
A2 oyl 176,379 178,819 A2,440
AP 22| Hl 97,692 100, 132 N 2,440
O1.dBtx=2H| 97,692
Moot e e =2 11,380




SM: HTBAL BARAY
HH: NSBAHAZ M (BEH/BAHZ)
Chel: BHA2F 2t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EaAA 330,000& x12& 3,960
A XL 80,0003 74 A+ 12 6,720
EAdS A 70,0003 x 1000 2 *13] 700
SAYMAE HY Y REHY AL
1,500, 000& *23| 3,000
- aHAL2e Y === 200,000& *123] 2,400
-S¥HIAFL =2 1,400, 000& *23| 2,800
“EMNEAEY =2 1,800,000& 12 21,600
-2aHelAlgd2el s
400,000& 123 4,800
-R01ZHES =2 95,000& 194 2128 21,660
-3 XEL =8 100,000 =184 2 1,800
-S|t EL =2 130,000& =128 1,560
—SEU2REQANAY EDxE
27,0003 18 & 128 5,832
-E2A4L AUSINE A =2
500,000& x13] 500
—2sEBddAld2e =+8 80,000 +128 960
ZELHINES £+ =2 (18HL)
1,000,000& »12& 12,000
-HtE 2 A 7,400
S 214 (3,646M) 5,000,000& x13] 5,000
BAXNA(HI,5012,U5)
800,000& *3IH A *13] 2,400
02 2324l 78,687 78,687 0
O2.9 =4l 36,036
-EAXA, BAIS A HHEASH| 36,036
2t 11,1003 #1202 «7 Al 2424 =180 A& 33,264
=227 1, 1003 « 120 34 *7J4 & 2,772
O3. A& & Hl* X bl 42,651
-2 &H |RXE=H 1,500, 000& 1,500
-IPESAIAE EH S X 450,000& 123 5,400
-2A4 2ol |2
200,000 128 2,400
-22A(X)A AMES =44
2,000,000& «8IH A 16,000
-A =K Al 17,351
SR 3,2483 x3,646m 11,843
CBAXNN(7TIHA) 2, 7173 2,027 m’ 5,508
401 Al Bl 28I 17,000 70,000 /53,000
01 Al&HI 17,000 70,000 53,000
OBHA L22AS A SEHIA
10,000, 000& * 14 10,000
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SA HPEAL BAZ Y
Ha: X APAC R A (/B A R)
CEEEE P kL] CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2Z 23 3Yas =4
8,000 15 » 12 1004 & 1,200
307 glz2tol & 40,000 40,000 0
01 222l 40,000 40,000 0
OHATBAL WRARE 7Y
200,000& »23] x 100 & 4,000
OFATBAL TRtz 1Y
300,000& 1000 2128 36,000
401 Al HI K 201 I 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
OBATBA(SH 9) P4 L ALTM DA
10,000,000& «2H 2~ 20,000
405 XtabE SHI 3,000 2,400 600
01 AR ESFH S 3,000 2,400 600
OEHAZ A HHD| 2,500,000 «1CH 2,500
OBz A S8 400,000 «1CH 400
OEHAZ A RREEEII 100, 000& = 1CH 100
BEANZARAE > 2,000 2,000 0
< 600
Al 1,400
201 €24 2,000 2,000 0
< 600
Al 1,400
01 At 22l 2,000 2,000 0
O1.det==2Hl 2,000
-AREEEIW Es0=E JIANM 2
200,000 *100H & 2,000
< 600
Al 1,400
sSOHE =z AHIA A 62,400 993,670 A 931,270
= 41,600
< 2,080
Al 18,720
SHE 2AZ MUl A HEAH<E Z> 62,400 993,670 A 931,270
= 41,600
< 2,080
Al 18,720
405 RHoHE S HI 62,400 55,000 7,400
= 41,600
= 2,080
Al 18,720
01 AL EFFHSHI 62,400 55,000 7,400
OXMd=z=40l 62,400
—HEEZEANL2 5 3,900,000 «6CH 23,400
= 15,600
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2N

=EE
Sl oorael CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 8,550
= 2,565
Al 5,985
405 XHAHFI S HI 17,100 19,500 N 2,400
J| 8,550
< 2,565
Al 5,985
01 XAt 22 E F S| 17,100 19,500 A2,400
OXNsSHANESIESANE = 17,100,000& 17,100
J| 8,550
& 2,565
Al 5,985
A0 S2EX MAEHH 25 MY 772,800 0 772,800
307 QI2t0| ™ 772,800 0 772,800
02 QI2tAAMAIE E =X 772,800 0 772,800
O0of2t Aotttk s X
23,000,000 *4% 122 x70/100 772,800
HIIN=SEBAS<KEX> 2,000 0 2,000
< 600
Al 1,400
201 2Et24Ay| 2,000 0 2,000
< 600
Al 1,400
01 AP 2t 2] d| 2,000 0 2,000
O1.B8t==H| 2,000
-AJ|J|IZ= 4835 EE2E M 2,000,000 2,000
< 600
Al 1,400
olgXx« 895,982 765,525 130,457
J| 364,133
< 105,291
Al 426,558
K2 AH AAS 61,277 53,947 7,330
101 Q124 H] 20,955 19,234 1,721
04 JI2ZtHIZ22NEE S 20,955 19,234 1,721
Odflg & MH2BAA 29 20,955
=23 60,2403 »2H 20 x6 & 14,458
-F=54 60, 240% x2H x5 3,012
ANHHE =G 50,000 2 6 & 600
-AXRaEsIIEE 60,240% x2H 6L 723
A28 J|a8e=2 18,793,000& *11.5% 2,162
201 2Bt | 27,942 25,233 2,709
01 AP 2t 2| bl 11,342 16,433 A5,091
O1.48t==2H| 7,880




SN 4TEAL BAFHY

1
Ha: NAPA DAY (2A/2AAR)

@ 2 XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-QIRAMNA S MEH 1,000& x2Z »8000H 1,600
-QIALIIY BN 2 10,000 x2&+12& 240
-QIRA ZEH ol 50,0003 *3CH x123] 1,800
O ZXNdE Ty A2 2L
250,000 »2CH »23] 1,000
~AEIE S| el ¥ 442
90,0003 *3CH*12& 3,240
O4.1l =t 390
-QIAA 224 I=] 130,000& »3H 390
O5.=2 &l 3,072
S ZXNJALR AM2AAZLRX =4
8,000 x4H 8L «12& 3,072
02 =24l 16,600 8,800 7,800
O3. A& ZHl s Xt 16,600
-HSEH el (IUEHIQ 4T)
200,000& x5& 1,000
S HAMSAAEH S22l
400,000& 123 4,800
-OXE g Atd J101 sAl2eldl
900,000& »12& 10,800
202 O4dl 2,880 2,880 0
01 = LH 4 1l 2,880 2,880 0
Zspo ME2DSHA O
60,0003 +2H 3 23| 720
O2Az X P& ot
60,0003 *4H 32 33| 2,160
307 glz2tol & 7,000 4,700 2,300
01 2222l 7,000 4,700 2,300
Oogtgdlg 4&E 2 100,000& x20E * 13| 2,000
OBYHRE ARL2E 7Y
50,000& x10& *23] 1,000
outttE2s 2 A2Xd A28 8 ¢
50,000& x20& *23| 2,000
OYAS TS U BLAN £42
1,000& *2,000H 2,000
405 THobH S| 2,500 1,900 600
01 et EFFHSHI 2,500 1,900 600
OgArd 228 ARH 2,500,000 = 1CH 2,500
ALEAHAS 69,349 58,022 11,327
101 @124l 46,849 34,622 12,227
04 JIZHHNZ2Z2XNSE =+ 46,849 34,622 12,227
OFAXA L PULAME 2 31,232
-JleEs 60,2403 «6F 202 x3 21,687
k== 60,2403 x6H 12 4,338
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D HPEAHA SAFMY

D RNGBEAHgE A (BA/EA9E)

G PNE CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-ZAA 0l==&X W2 MZE
300& *8,0002 *2& 4,800
-YHFUANY BE22F § 7L 1,000, 000& 1,000
-HEY HAE MEsS ¥ 224N MA
75,000 204 1,500
SNSRI ETAY HAIG EE
20,000,000& 20,000
02 2324l 3,600 3,900 A 300
O1.332LHA 3,600
-0l=3&dX = U= dUSE &2
4503 +8,000A 3,600
301 et d = 3,000 3,000 0
1M1IIEELSS 3,000 3,000 0
O=INZE KNI SAX &Sl
10,0003 x15H +23| « 102 3,000
Sotzel XXM X2 (5 RIS &AL )<E X> 181,296 162,874 18,422
J| 90,648
< 27,194
Al 63,454
101 @124l 8,000 5,022 2,978
J| 4,000
< 1,200
Al 2,800
04 JIZHHZ2XNESE S 8,000 5,022 2,978
O=IML =N Z ALY HsHatg Al 8,000
== 7,080,000 7,080
J| 3,540
< 1,062
Al 2,478
A2 JI2RE3 920,000& 920
J| 460
< 138
Al 322
301 et d = 173,296 157,852 15,444
J| 86,648
< 25,994
Al 60,654
01 MEIBEZE 06z 173,296 157,852 15,444
O30t &=xJ] &bl 173,296, 000& 173,296
J| 86,648
< 25,994
Al 60,654
2E X olEH ¥ Morgzel XNHA(LEI o =2H X 200,500 223,308 A 22,808
ALY )<E E>
J| 100,250
< 30,075
Al 70,175
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el

X ZH
S =

LDEAA HAFMY

o Z X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 200,500 223,308 A22,808
J| 100,250
< 30,075
Al 70,175
01 MEI2EZE %06z 200,500 223,308 A22,808
Ogexte=zd XI& 200,500, 000& 200,500
J| 100,250
< 30,075
Al 70,175
SIAGUXSE EEX 2=H XJAS<E=ER> 296,816 207,042 89,774
J| 148,408
= 44,522
Al 103,886
301 et 4= 296,816 207,042 89,774
b 148,408
< 44,522
Al 103,886
01 MEIBEE 253 296,816 207,042 89,774
Os/HEEA 2AZH XA 296,816,000 296,816
J| 148,408
< 44,522
Al 103,886
M EAH<E X> 9,000 9,000 0
< 2,700
Al 6,300
301 g2 4= 9,000 9,000 0
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